
Q1) Attempt any five of the following : [5 × 2 = 10]

a) Define defence management.

b) Write the full form of HSTDV.

c) What is logistic management?

d) What is decision making?

e) Define ‘Strategic’ Drones.

f) Define non military organisation

Q2) Attempt any four of the following : [4 × 5 = 20]

a) Logistic management

b) India’s hypersonic projects

c) Ministry of defence

d) Military organisation

e) ToT (Transfer of Technology)
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Q3) Attempt any four of the following : [4 × 5 = 20]

a) Explain about Electric Propulsion Technology.

b) State principles of non military organisation.

c) State principles of military organisation.

d) Explain types of military organisation.

e) State the Organisational aspects of decision making.

Q4) Attempt any two of the following : [2 × 10 = 20]

a) Explain in detail decision making in Indian armed forces

b) Explain in detail problems of prospectus of arms production in India.

c) Explain in detail Major Defence Collaboration in Work to Manufacture
Sophisticated, Modern Equipment in India.


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àíZ àíZ àíZ àíZ àíZ 1) Imbrbn¡H$s H$moUVohr nmM àý gmoS>dm. [5 × 2 = 10]

A) g§ajU ì`dñWmnZ ì`m»`m H$am.

~) HSTDV Mo nyU© ñdê$n {bhm.

H$) nwadR>m ì`dñWmnZ åhUOo H$m`?

S>) {ZU©̀  à{H«$`m åhUOo H$m`?

B) "ñQ´>°Q>o{OH$' S´>moZMr ì`m»`m H$am.

\$) {~Ja bîH$ar g§KQ>Zm ì`m»`m Úm.

àíZ àíZ àíZ àíZ àíZ 2) {Q>nm {bhm. (H$moUVohr Mma) [4 × 5 = 20]

A) nwadR>m ì`dñWmnZ

~) ^maVmMo hm`nagm°{ZH$ àH$ën

H$) g§ajU _§Ìmb`

S>) bîH$ar g§KQ>Zm

B) ToT (V§ÌkmZmMo hñVm§VaU)
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àíZ àíZ àíZ àíZ àíZ 3) Imbrbn¡H$s H$moUVohr Mma àý gmoS>dm. [4 × 5 = 20]

A) BbopŠQ´>H$ àmonëeZ V§ÌkmZ ñnï> H$am.

~) {~Ja bîH$ar g§KQ>ZoMr _ybVÎdo gm§Jm.

H$) bîH$ar g§KQ>ZoMr _ybVÎdo gm§Jm.

S>) bîH$ar g§KQ>ZoMo àH$ma ñnï> H$am.

B) {ZU©̀  à{H«$ òVrb g§KQ>ZmË_H$ KQ>H$ gm§Jm.

àíZ àíZ àíZ àíZ àíZ 4) Imbrbn¡H$s H$moUVohr XmoZ àý gmoS>dm. [2 × 10 = 20]

A) ^maVr` goZmXbmVrb {ZU©̀  à{H«$`m g{dñVa ñnï> H$am.

~) ^maVr` goZmXbm§gmR>rÀ`m g§ajU CËnmXZmVrb g_ñ`m g{dñVa ñnï> H$am.

H$) ^maVmVrb AË`mYw{ZH$, AmYw{ZH$ CnH$aUo V`ma H$aÊ`mÀ`m H$m_mVrb à_wI g§ajU
ghH$m`m©Mo Vnerbdma dU©Z H$am.




